= o
A & 0l & AF 2 E A A
201789 = S0l& LA SXE A
2AH: SRS
E: =SUMH 25
chelr XIHAE =XHE (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SX &M 12,676,788 10,359, 590 2,317,198
= 2,741,274
J| 38,220
Al 8,320,716
T Hl 1,576,578
SNEH L3t 5,680,414 4,288,378 1,392,036
= 1,192,425
Al 3,952,854
-4l 535,135
KA SXHE 4,489,125 3,361,339 1,127,786
= 334,180
Al 3,761,332
-l 393,613
AglEX2 29 2,777,600 2,547,350 230,250
Al 2,767,000
I 10,600
307 21201 A 2,777,600 2,547,350 230,250
Al 2,767,000
I 10,600
05 RIZt2IEt = 2,777,600 2,547,350 230,250
OAMI =X 24 X2 2,767,000,000& 2,767,000
AlHI 2,767,000
OF&s=sla g Bx 3,600,000 3,600
OZFUUOIHE RE3=AY &
7,000,000& 7,000
MISXNHEIRH BREX AI=S2LE HIX 25,344 25,344 0
Al 12,672
I 12,672
301 et a s 25,344 25,344 0
AlHI 12,672
I 12,672
0B M ERRIABAS 25,344 25,344 0
OMIASANEGS SRR FREX 25,344,000 25,344
AlHI 12,672
T Hl 12,672
SN 2N 53,204 44,268 8,936
201 Let24d] 24,936 19,000 5,936
01 At 22/l 24,396 18,460 5,936
OX<G A 2&EAHE [ 2 8,800& +70& 616
OAtst=XEstd ZstEsH S HA
20,000& 3004 600
OXS=ER ¢ - 284 245 29
2,000,000& 2,000
OslY =X «¢&s 12,000, 000& 12,000
OFANTASEI(ER) 9,180,000& 9,180
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SN =NEH
Ha: =2XHH 2
ol KEAIS =X (S &2)
= _ — d =
SA - BB B () - MM - BES Ol &t o e HmEET
02 =224l 540 540 0
OMMHTSEXN SEZBAAH HFEHLI| 2
& 45,0003 123 540
203 YR =&l 25,100 22,100 3,000
03 Al F=XH R =ZH| 25,100 22,100 3,000
osxsgz=s =8 3,200,000& 3,200
OEsHHd A2 g2 19,800, 000& 19,800
OAMsl =X gR=2 1,300, 000& 1,300
OY2agMdlA 2AHT 2HE 3 800,000 800
301 et a3z 3,168 3,168 0
0B A =EERAB NS 3,168 3,168 0
OAMEIEX gREX 3,168
S A 6,000 x2H x222 « 123 3,168
M3 SXAIE A3 =222 UX 39,600 39,600 0
Al HI 19,800
I 19,800
301 et a3z 39,600 39,600 0
Al HI 19,800
I 19,800
0B M ELRIBHS 39,600 39,600 0
OMBIEXIAIE ASER2A 54
39,600,000& 39,600
AlHI 19,800
-l 19,800
2s3a 29 11,677 11,177 500
201 2ot 2 Y| 11,677 1,177 500
02 2324l 11,677 11,177 500
Oz3la 22R= 8,000,000& 8,000
O&s32 RAE==22|
3,362& %1,592.5m" x50% 2,677
OEsEsl& A2YAE 323 1,000, 000& 1,000
HER3A XE 963,000 570,800 392,200
AlHI 948,000
L Hl 15,000
301 L2 A= 963,000 570,800 392,200
AlHI 948,000
T Hl 15,000
01 MEIBEZE+06l= 963,000 570,800 392,200
OIS o= 948,000,000 948,000
Al 948,000
OHEREA A2 15,000,000 15,000
A2l EH 23 XI& 117,300 112,300 5,000
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2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 117,300 112,300 5,000
02 QIZHA AAIE E X 79,000 78,600 400
OUctAge B2l =X 67,500,000 67,500
OAMIEH 22d&s I 11,500,000& 11,500
03 QIZI X HAESHHIEX 38,300 33,700 4,600
OUctAge B2l 29 X
38,300,000 38,300
= ANYGAMIIEBHEIM 29X 24,000 10,500 13,500
201 et | 24,000 10,500 13,500
01 AFR 2t 2| H| 12,000 10,500 1,500
OfIds 89 & 12,000,000 12,000
03 A2 HH| 12,000 0 12,000
OSXAANSIEEEYN |J /FIAS
12,000,000 12,000
EgtAd e I (sENIIs2E) 92,400 0 92,400
= 64,680
Al HI 13,860
T 13,860
201 LBt 9H]| 15,400 0 15,400
= 10,780
Al HI 2,310
T 2,310
01 AP 22| d| 15,400 0 15,400
OsEXllsds 2928 Y
15,400,000 15,400
= 10,780
Al HI 2,310
24l 2,310
301 et A= 77,000 0 77,000
= 53,900
Al HI 11,550
I 11,550
01 Al E & A 462 77,000 0 77,000
Os S&Atdl &2l At 77,000,000 77,000
= 53,900
Al Hl 11,550
Tl 11,550
20t EXNABIA NSRS 385,000 0 385,000
= 269,500
24| 115,500
405 XHoHFE S HI 385,000 0 385,000
= 269,500
24| 115,500
01 AL E B F S| 385,000 0 385,000
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2N

M =2UEH 25
Sl XISAS =X CERED
_ = (o
SA BB (3H) - NRAY - B Ol At o %@i HRE2
O%Es =/g 228 1 2g

35,000,000 =11CH 385,000
= 269,500
T 115,500

XNGAS Us=& 1,191,289 927,039 264,250
= 858,245
Al HI 191,522
T 141,522

I=ZEYW3 29 6,000 6,000 0
Al HI 3,000
Tyl 3,000

307 2Iz2t0| & 6,000 6,000 0
Al HI 3,000
Tl 3,000

11T AISIEXAIEEX 6,000 6,000 0
OJlx=xcdw3 29 & 6,000,000& 6,000
Al HI 3,000
24 3,000

28 SXNAH 968,669 709,279 259,390
= 774,935
Al HI 96,867
24l 96,867

301 et A= 968,669 709,279 259,390
= 774,935
Al HI 96,867
24l 96,867

01 Al B & A 462 968,669 709,279 259,390
o228 sXX&A 968,669,000 968,669
= 774,935
Al HI 96,867
T 96,867

IEZEQAN 2Y 50,000 50,000 0
Al HI 50,000

307 QI2t0| ™ 50,000 50,000 0
Al Hl 50,000

05 QIZ2tE 2 50,000 50,000 0
OJI=ZCc0z 249 50,000,000 50,000
Al HI 50,000

S At &2l A o128 K 151,620 146,760 4,860
= 75,810
Al HI 37,905
T 37,905

101 Q124 H| 151,620 146,760 4,860
= 75,810
Al HI 37,905
Tyl 37,905
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2N

X ZH
S =

el

EPARSE )
CENEH 2

XS Ate Ls=a

SA - BB B () - MM - BES Ol &t o San HmEET

04 JIZHHZ2XREES 151,620 146,760 4,860
OMSIEXESMEIA 8223 151,620,000 151,620
= 75,810
Al 37,905
Tl 37,905

SetArel 22l (At &2el22dl) 15,000 15,000 0
= 7,500
AlHI 3,750
2 HI 3,750

201 Let24d] 7,000 7,000 0
= 3,500
Al HI 1,750
-l 1,750

01 At 22l 7,000 7,000 0
OAtdlZ2elAtd 298 X& 7,000,000 7,000
= 3,500
AlHI 1,750
T Hl 1,750

301 gt 4= 8,000 8,000 0
= 4,000
AlHI 2,000
T Hl 2,000

01 MEI2EZE 406z 8,000 8,000 0
OAtedl 22l At e 8,000,000& 8,000
= 4,000
Al HI 2,000
I 2,000

Ots =Xl & 5,807,882 5,140,745 667,137
= 1,380,195
Al HI 4,127,213
1 Hl 300,474

otsE2s 5,807,882 5,140,745 667,137
= 1,380,195
AlHI 4,127,213
I 300,474

I, AEAL A0S BSES U 22,500 22,744 A 244
AlHI 22,500

301 YerE A 22,500 22,744 A 244
AlHI 22,500

01 MEI2BZE 06z 22,500 22,744 A 244

OJESIE, 2HAH, NEOE HHS=3 X

2 22,500,000& 22,500
AlHI 22,500

g4 - dexs Ots AN 1,177,896 1,177,896 0
AlHI 883,422
T Hl 294,474

- 246 -




SM: =2XNEHY
=RV (-

& otsES (&)
SA - BB B () - MM - BES Ol &t o San HmEET
301 gt L= 1,177,896 1,177,896 0
AlHI 883,422
T Hl 294,474
01 MEI2EZE 45z 1,177,896 1,177,896 0
OZY - WS OIS K&
1,177,896,000& 1,177,896
AlHI 883,422
T Hl 294,474
E-354 Ots=4X& 285,986 319,848 A 33,862
Al 285,986
301 gt d= 285,986 319,848 A33,862
AlH 285,986
01 MI2ZE 6= 285,986 319,848 A 33,862
OE - -Z258d Ots=4 N& 285,986, 000& 285,986
Al HI 285,986
NEEHAEE S&EAd el X 270,000 340,000 AT70,000
= 270,000
101 @124 Hl 133,000 133,000 0
= 133,000
04 D12t Z2XEES 133,000 133,000 0
Oglzt=2olsd QlAH| 133,000, 000& 133,000
= 133,000
201 Let2d] 61,000 131,000 A70,000
= 61,000
01 At 2teltl 47,000 117,000 270,000
OEYARE Z208 ¥ 2% 47,000,000 47,000
= 47,000
02 8322l 14,000 14,000 0
03323 14,000,000& 14,000
= 14,000
202 odl 16,000 16,000 0
= 16,000
01 = LH o4 1l 16,000 16,000 0
OEYHARE HNIASEH 16,000, 000& 16,000
= 16,000
203 YR =&l 2,000 2,000 0
= 2,000
03 AIMHF=XH R =AH| 2,000 2,000 0
OEYAEE RFH 2,000,000& 2,000
= 2,000
301 L2 A F 7,000 7,000 0
= 7,000
09 &AL HI B A S 5,000 5,000 0
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SM: =2XNEHY
=RV (-

e OlsEs (2 &HH)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OXJASAMA & AKX A 5,000,000 5,000
= 5,000
11 IIEtE &2 2,000 2,000 0
OSLFEET T AL SEIot7 24 2,000,000& 2,000
= 2,000
307 QI2t0| ™ 51,000 51,000 0
= 51,000
11 AMIASAAEE X 51,000 51,000 0
O=zx8ladoz)dH 24 X 51,000,000& 51,000
= 51,000
AEAH 2 JIERE Ols ¢85 A& 181,800 142,560 39,240
Al H] 181,800
301 et A= 181,800 142,560 39,240
Al HI 181,800
01 MSIEEAE G2 181,800 142,560 39,240
OadAHIIIE € JIE/IE0s ¢ A&
181,800, 000& 181,800
Al HI 181,800
AEAEHIE € JIE/AEOS AN XA 80,000 27,000 53,000
Al H] 80,000
301 et A= 80,000 27,000 53,000
Al H] 80,000
01 MBI BEEAELG2 80,000 27,000 53,000
OAEdAEHIAE & JIEQEOES NEXA
80,000, 000& 80,000
Al HI 80,000
ANEOIS A8=H X3 42,212 44,483 N2,271
Al H] 42,212
301 LBt A= 42,212 44,483 N2,271
Al H] 42,212
01 M BEEESG2 42,212 44,483 N2,271
OANMHEOS HE=H X 42,212 ,000& 42,212
Al Hl 42,212
otsee XISAHZ X 149,231 79,474 69,757
= 104,462
Al HI 44,769
301 dEtE A= 149,231 79,474 69,757
= 104,462
Al H] 44,769
01 M3 EXEE G2 149,231 79,474 69,757
Oo0tsgY XA XA 149,231,000& 149,231
= 104,462
Al H] 44,769
Ol X WAHAISE X2l XH) 224,430 228,480 A 4,050
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2N

X{ XH -
S =

g otseE s (9%_@%)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 112,215
Al HI 112,215
101 Q121 H] 224,430 228,480 AN 4,050
= 112,215
Al HI 112,215
04 JI2ZtHIZ22NEE S 224,430 228,480 A 4,050
OO0ls=S AW AF 21 24H| 224,430,000 224,430
2 112,215
Al Hl 112,215
MASH (OIS SLSAIAE) 207,987 202,333 5,654
= 187,288
Al HI 20,699
301 et A= 207,987 202,333 5,654
= 187,288
Al Hl 20,699
01 M EXEE 252 207,987 202,333 5,654
OOsSU=SAIE MAHS N 207,987,000 207,987
= 187,288
Al HI 20,699
OFSUY=ANE 29 1,544,951 1,075,929 469,022
Al HI 1,544,951
307 2I2t0| & 1,544,951 1,075,929 469,022
Al HI 1,544,951
10 M SXAEEHESIGHEX 1,544,951 1,075,929 469,022
OllsYd=ALE 29 1,544 ,951,000& 1,544,951
Al HI 1,544,951
RESOls 085 2<% 90,556 55,518 35,038
= 36,222
Al HI 54,334
307 2izto| A 90,556 55,518 35,038
= 36,222
Al HI 54,334
10 MM SAANEEHESIGHEX 90,556 55,518 35,038
OZSMEIIY(OEE)UAHH ¥ 22|
90,556,000 90,556
= 36,222
Al HI 54,334
StHIoHOtES & (228, o24dl, AFH]) 126,470 0 126,470
= 50,588
Al HI 75,882
307 2iz2to| A 126,470 0 126,470
= 50,588
Al HI 75,882
10 MM SAANEEHESIGHEX 126,470 0 126,470
OstiImoliols e (2=) 2
126,470,000 126,470
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2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
= 50,588
AlHI 75,882
Sfooiols 81858 24 22,000 0 22,000
AlHI 22,000
307 gl2tol & 22,000 0 22,000
Al 22,000
10 M3 SXNANEHIS2IHEX 22,000 0 22,000
Osttfmstiolts d&1EE(dtsH) 22
22,000,000 22,000
AlHI 22,000
SSHEIE 2 N 15,000 9,000 6,000
AlH 15,000
307 21201 A 15,000 9,000 6,000
Al 15,000
10 ALl SXAIEEE2EHEX 15,000 9,000 6,000
TEMEIY(DEE)EAR =2X4Y
15,000, 000& 15,000
Al 15,000
A, JIE/AE Ot Xz K 2,400 4,200 A 1,800
= 1,680
Al HI 720
301 et Az 2,400 4,200 A 1,800
= 1,680
Al HI 720
01 AR 2Z A 353 2,400 4,200 A 1,800
OgY - IIERAE Ots delxlzg K&
2,400,000 2,400
= 1,680
Al 720
AAOISIHFXNH (=) 120,600 132,791 A 12,191
= 84,420
Al HI 36,180
301 e A= 120,600 132,791 A 12,191
= 84,420
Al HI 36,180
01 AR 2Z A 53 120,600 132,791 212,191
Ogdots === XA 120,600, 000& 120,600
= 84,420
AlHI 36,180
UAOISIHEXNE(LL=HI2 LRUXESB) 2,100 2,800 AT700
= 1,470
AlHI 630
301 gt 4= 2,100 2,800 AT700
= 1,470
AlHI 630
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2N

g ots=X g
@2 OIsE s (SHe &)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 MI2EZE+06l= 2,100 2,800 A 700
Oggxedit 2NXZ 2,100,000 2,100
2 1,470
Al 630
UAOISIHEXN A (LA E) 2,700 21,600 A 18,900
= 1,890
AlHI 810
301 et a3z 2,700 21,600 A 18,900
= 1,890
AlHI 810
01 MEIBEE 263 2,700 21,600 218,900
ogddlE K& 2,700,000 2,700
2 1,890
AlHI 810
UAOIENEX R (HONOIE YL LTAY) 8,612 28,636 £20,024
2 6.028
Al 2,584
301 et A3z 8,612 28,636 220,024
= 6,028
Al 2,584
01 MI2ZHE 6= 8,612 28,636 AN 20,024
OZOots gLLds=Y K& 8,612,000& 8,612
= 6,028
AlHI 2,584
ANotsdH 2EX& 998,616 986, 340 12,276
= 499,308
AlHI 499,308
307 glz2tol & 998,616 986, 340 12,276
= 499,308
AlHI 499,308
10 ALSISXAIEEE2EH EX 998,616 986, 340 12,276
OXgotsdyd 249 X 998,616,000 998,616
= 499,308
Al 499,308
NEOtsSEHEH SAX MHA X 66,600 65,810 790
Al HI 66,600
307 21201 A 66,600 65,810 790
Al HI 66,600
10 ALSISXAIEEE2GHEX 66,600 65,810 790
OXNSOSHEHBAIN HRMSE K&
66,600,000& 66,600
Al HI 66,600
OF2t Mg NAOISHE X 7,800 7,800 0
AlHI 7,800
307 21201 A 7,800 7,800 0
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SM: =2XNEHY
=RV (-

ool olsEs (G EE)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
Al'H] 7,800
10 AR SEXAIEEE2IHIEX 7,800 7,800 0
OO0 YE X A0tsHE XA 7,800,000& 7,800
Al H] 7,800
XNEotsHE IPTV 282 29 & 25,380 24,888 492
Al Hl 25,380
307 212t0| & 25,380 24,888 492
Al HI 25,380
10 AIRIEXAIEEHAE2IGHIEX 25,380 24,888 492
OXdotsHH IPTV 282 29 1&
25,380,000& 25,380
Al HI 25,380
EQRIANA(4Us S MHA) 49,248 50,112 N\ 864
= 24,624
Al HI 24,624
307 212t0| & 49,248 50,112 N\ 864
= 24,624
Al H] 24,624
10 AIRIEXAIEEE2IGHIEX 49,248 50,112 864
OetltE SEMHIA(ER2Y9H]|)
49,248 ,000& 49,248
= 24,624
Al Hl 24,624
gtls S=2 MYl A (Al 17,277 17,085 192
Al HI 17,277
307 QI2t0| ™ 17,277 17,085 192
Al H] 17,277
10 Al SEXAIEEE2IHIEX 17,277 17,085 192
O=2¢2t2l sts =2l 8,500,000& 8,500
Al H] 8,500
Od - Lhehy| 3,801,000 3,801
Al HI 3,801
OSH AR & HI 1,700,000& 1,700
Al H] 1,700
O™ A& 3,276,000 3,276
Al HI 3,276
g A0S ANEBEHES 40,000 40,000 0
Al H] 40,000
301 LBt A= 40,000 40,000 0
Al H] 40,000
01 MBI BEEAESG2 40,000 40,000 0
OANME Ea0ts ANEEEHZ X
40,000, 000& 40,000
Al H] 40,000
Ols=XAIY 29 3,000 3,000 0
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2N

M Ots=X &
el OlEES (chel m )
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
201 Le-2d| 3,000 3,000 0
01 At 22l 3,000 3,000 0
Oots - @844 E288 S 3,000,000& 3,000
Helol=0le ¥ OtsEAEAIE 2el 3,000 3,000 0
401 Al Bl 28I 3,000 3,000 0
01 A& HI 3,000 3,000 0
O0elol=0lEe & OIsSHAEAIE 22|
3,000,000& 3,000
OtsAld otd el & #Zoi&H XA 7,570 3,000 4,570
AlHI 7,570
307 glz2tol & 7,570 3,000 4,570
AlHI 7,570
10 M3 SXNANEHI2IHE=X 7,570 3,000 4,570
OOtsSAlg otdzte] & SZsd X2
7,570,000& 7,570
AlHI 7,570
Otz SsdaId Ad8s4d 7,960 4,818 3,142
AlHI 7,960
307 glz2tol & 7,960 4,818 3,142
AlHI 7,960
11 AS S XAEE = 7,960 4,818 3,142
Olts S2sdald Ad¥sH 7,960,000 7,960
Al HI 7,960
LA=ota X3 4,000 4,000 0
AlHI 4,000
301 L2 LS 4,000 4,000 0
AlHI 4,000
01 Al EE E 563 4,000 4,000 0
OYge=ol= 4,000,000& 4,000
Al 4,000
AU ¥ ES 1,164,140 906,811 257,329
= 168,654
| 38,220
AlHI 240,649
Tl 716,617
dAadE XS 1,164,140 906,811 257,329
= 168,654
| 38,220
Al HI 240,649
I 716,617
FAESE0Y 29 29,750 29,750 0
| 11,900
Al HI 8,925
2l 8,925
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2N

X{ XH -
S =

=X F & D
FAEXE & B5

=

oelr HAd =2XEX 9 EE)
SN HH-S(BN) - MBAY - B il HlnE2
201 Le-2d| 1,750 1,750 0
| 700
AlHI 525
- Hl 525
01 At 2t 2l 1,750 1,750 0
O&EAaY HSEOY 1,750,000& 1,750
| 700
Al Hl 525
I 525
307 21201 A 28,000 28,000 0
| 11,200
Al HI 8,400
-l 8,400
1A S XA E X 28,000 28,000 0
O&AYE HEE0g & 28,000,000& 28,000
| 11,200
AlHI 8,400
-4l 8,400
d4aE S2Y 24 14,000 15,400 A 1,400
AlH 7,000
-4l 7,000
307 glz2tol & 14,000 15,400 21,400
Al 7,000
-4l 7,000
11 ALSI S RAEE = 14,000 15,400 A 1,400
O&FEad 222 29 & 14,000,000 14,000
AlHI 7,000
I 7,000
dAa4E S0tel XA 22,500 14,000 8,500
| 9,000
AlHI 6,750
- Hl 6,750
307 glz2tol & 22,500 14,000 8,500
| 9,000
AlHI 6,750
I 6,750
11 AISI S XA E X 22,500 14,000 8,500
O&#EAE sotel XA 22,500,000 22,500
| 9,000
Al 6,750
-4l 6,750
Fad SEXH 10,000 8,000 2,000
J| 7,000
Al HI 3,000
301 L2 A Z 9,760 7,360 2,400
| 7,000
Al HI 2,760
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2N
X ZH -
L= B

el

EPARSE )

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 M BEEESG2 9,760 7,360 2,400
OSEXNta #a4 XA 9,760,000& 9,760
J| 7,000
Al Bl 2,760
307 QI2t0| ™ 240 640 N 400
AlHl 240
11 A EXNAEE X 240 640 AN 400
OSg8XNaaUa d3ayd A XA 240,000& 240
Al Hl 240
Had B35 10,506 9,330 1,176
201 LBEt2 A Y| 7,406 6,198 1,208
01 AP 22l Yl 7,406 6,198 1,208
O843ES0 Sotg A H& 620& x5,000H 3,100
OF3AES &3 4,800& x50 x12& 2,880
OFAdE & EE= 150& *2,0000H 300
OHELAEXNERAA /= HME 1,000,000& 1,000
OFAEES YA WA Z MEA &8 Y LA
E8F 3,000& x20H 60
OM&Z2 0CRLAIM M & 443 =1, 50000 66
202 04d| 480 512 N 32
01 2L Y] 480 512 N 32
OFAHE Kofilatd =504l
20,000& x2H x12& 480
203 ¥ R =&H| 1,100 1,100 0
03 Al F=X AR =AH| 1,100 1,100 0
OFAHE 2K 500,000& 500
OstnZEYME3 2t 3 20,000& *304H 600
301 LprE A3 1,520 1,520 0
09 HALAHIEA S 1,120 1,120 0
OFAHE XNERE Koilgas 85l A
7,000& x160H * 1 1,120
11 IIEtE &2 400 400 0
OFAHE Kaolga ANl B4 100,000 43| 400
Atot EAaYE 2352 & 29 610,036 587,711 22,325
307 QI2t0| ™ 160,000 120,000 40,000
05 A2t E = 160,000 120,000 40,000
OAld 22| & 29 160,000, 000& 160,000
401 Al HI L RO 450,036 467,711 A1T,675
01 Al&Z Bl 450,036 467,711 N17,675
OEXN ¥ HZ2 W 450,036,000& 450,036
HAW LS O3HHO 2Y 150,238 150,780 £542
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2N
X ZH -
L= B

el

=X & D
HAUXE L 25

EPNERE D E=F

SA - BB B () - MM - BES Ol &t o San HmEET

= 75,119
AlHI 75,119

307 glz2tol & 150,238 150,780 A 542
= 75,119
AlHI 75,119

05 RIZHRIEt 3 150,238 150,780 A 542
OFAYE &=03t0I0I 29 150,238,000 150,238
= 75,119
Al 75,119

HAEX S AL B XX 20,640 20,040 600
J| 10,320
Al HI 10,320

307 21201 A 20,640 20,040 600
J| 10,320
AlHI 10,320

05 RIZt2IEt = 20,640 20,040 600
OFALE X T A BEXI X2 20,640,000 20,640
J| 10,320
AlHI 10,320

HAHSEXNE HARAS(MIAFHURE) 87,670 0 87,670
= 43,835
AlHI 43,835

307 gl2tol & 87,670 0 87,670
= 43,835
AlH 43,835

05 BIZHRIE 3 87,670 0 87,670
OFALEAZ MY Ax 87,670,000& 87,670
= 43,835
AlHI 43,835

HAESEXNA HAHARAS (NS A ALY) 113,000 0 113,000
AlHI 63,000
L Hl 50,000

307 glz2+ol & 113,000 0 113,000
AlHI 63,000
L Hl 50,000

05 RIZtE = 113,000 0 113,000
OX &g A b 113,000, 000& 113,000
Al 63,000
T Hl 50,000

st & HAE XN 71,000 69,000 2,000
= 49,700
Al 21,300

307 21201 A 71,000 69,000 2,000
= 49,700
Al Hl 21,300

05 BIZHRIE 3 71,000 69,000 2,000
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EPARSE )

MY HAUNY U 25
chelr HAW =2XEA CERED
SA - BB B () - MM - BES Ol &t o San HmEET
Ostn & Fa4d X& 71,000,000& 71,000
= 49,700
Al Hl 21,300
Ead FoEs N2 2,800 2,800 0
AlHI 1,400
1 Hl 1,400
307 21201 A 2,800 2,800 0
AlHI 1,400
I 1,400
05 212t E = 2,800 2,800 0
OFAHENRAE 2EXNE 2,800,000 2,800
AlHI 1,400
T Hl 1,400
SEHEALATMHCEMEEH HE 22,000 0 22,000
401 AIEHI L 201 22,000 0 22,000
01 A& Hl 22,000 0 22,000
OZAZelAde g 23 &9 22,000,000& 22,000
HE2HAZH(SX ) 24,352 23,656 696
Jl= &l 24,352 23,656 696
Jl=dl 24,352 23,656 696
201 Let249] 17,152 16,456 696
01 At 22l 17,152 16,456 696
ORNM2IE+=EHl 8,920,000& 8,920
OJl2ge==d &l 7,392,000 7,392
Ofs4 29l 840,000& 840
203 R =&l 7,200 7,200 0
01 122 =4 3,000 3,000 0
OJIZ2g YR8 3,000,000& 3,000
04 EA2IYRFLH| 4,200 4,200 0
ORN2EYR =4I 4,200,000 4,200
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